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1. Write the following polynomial in standard form 6x*+5x" —2x° +4x* +5 :

2x7+ 5% T+ 6x 3+ 9x 2 #<

2. Whatkind of polynomial is x* +3x+2 ? (circle all that apply)

a) linear b) cubic @uadratic d) constant
€) monomial f) Binomial trinomial @polynomial

Complete the polynomial operation. (Lesson 6.1, 6.2, 6.3, 6.5)
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Factor the polynomial. {Lesson 6.4)
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Graph the following functions without using a calculator. Next, identify the parent function, list the
transformations involved, and also include the new domain and range.

8. g(x)=vx+1-2

Parent Function: R"k

Domain: (- 0o, )

Range: [ 2 , )

Parent Function: B0 = &

Domain: [“ \ )
Range: [‘2; oc’)

9. h(x)=2(x—1)?-2
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Dec: _ £ Dec: ("00,. D

X-int: MO)

10. i(x)=-3|x+1+3
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Parent Function: P (%> :/X /

Domain: (~°= ) oo
Range: (<99, 3]
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Left EB:

Right EB: _ — O
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Dec: (}'. OQ)




